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217 10 A 28 H ¥ % A 7 » | 6,000 |109.7 | 140 21 W R 5 4y 7 =
218 " Y — v » | 6,000 | 109.7 | 138 25 oy oA '
2191 11 H 9 H > ¥ A4 7 v | 6,000 109.7 | 138 15 4y U X S ¢
220 u 7 v v o2 B L | 6,000 | 109.7 | 138 21 4y WA En
221 11 A 10 H Y — v v | 6,000 | 109.7 | 142 25 7 WmeooA En
222 11 A 23 H v % A om v k| 6000|1097 | 135 11 4y mooA E A
TR 174 (16[8]-16%)
223 1 H 25 H ¥ % A 7 » | 6,000 |109.7 | 138 21 4y I < X A
2241 2 H 5 H o % v ¥ L % | 6,000 | 109.7 | 138 67 B¢ M 15 % 5 =
225 3 H 15 H F U v v 7 | 6,000 | 109.7 | 138 9 4y mooA ' A
226 4 H 14 H o % v ¥ L % | 6,000 | 109.7 | 138 19 oo WmooAa Eon
2271 4 H 18 H o % v L % | 6,000 | 109.7 | 138 12 4y mooA E A
228 5 H 29 H v oy oo v k| 6,000 |109.7 | 138 21 4 U S - S ¢
2291 6 A 12 H ¥ ¥ v v k| 6,000 | 109.7 | 138 14 2 mooA E A
230 7 A 2 H ~ 153 + | 6,000 | 109.7 | 138 14 5y UL S X €
231 7 A 6 H 2 % F | 6,000 | 109.7 | 138 23 W M 54 & 1 =
2321 8 A 2 H AT o 6,000 | 109.7 138 45 4y mooA E A
233 8 H 13 H ¥ — v 2k | 6000 |109.7 | 138 4 B M4 4y 1 =
234 8 H 15 H 25 % F | 6,000 | 109.7 138 10 9 oA A
235 9 H 13 H ¥ — - = Z K | 6,000 |109.7 | 138 6 B O 4 & 1 =
236 9 H 19 H A4 v 4 | 6,000 | 109.7 138 19 4y mooA E A
237 12 H 2 H YT AT A=A JYAT4 | 6,000 | 109.7 | 138 30 4y U X S £
238 12 A 8 H ¥ > &% 7 = | 6,000 |109.7 | 138 24 I 9 4y P =
R84 (16[11-164)
2391 1 A 23 H ¥ & 7 = | 6,000 |109.7 | 138 31 4y mooA mEn
2401 3 A 15 H v — & | 6,000 109.7 | 138 70 BF [ 50 4y 5 =
241 6 H 15 H oA 7 4 | 6,000 | 109.7 138 93 I M 3 & Bz J
242 7 A 12 H A 2 a4 | 6,000 | 109.7 | 138 0 5y BN @l
243 7 A 15 H A 2 o | 6,000 | 109.7 | 138 78 B M 12 & 1 5
244 7 H 27 H Y — v » | 6,000 | 109.7 | 138 14 o) 7 =
245 8 A 19 H A 2 o | 6,000 | 109.7 | 138 21 oy -




AT AT e el B BRI W%
(P [ e B - 2 500 (t) (m) (N)
246 11 H 1 H 7 v ¥ =2 B | 6,000 | 109.7 | 138 22 4y mooA = A
247 11 H 2 | v — v o 7 |8,060 | 107.6 | 138 15 4y LI < N € |
248 11 H 6 H 7 v ¥ =2 B | 6,000 | 109.7 | 138 14 4y mooAa =N
249 11 H 8 H v — w7 | 8,060 |107.6 | 138 18 4y I < N € |
250 11 A 16 H 7 v ¥ =2 B | 6,000 | 109.7 | 138 40 oo UL N R |
251 12 H 6 H v — v o 7 | 8,060 | 1076 | 138 15 4y I < N A |
252 12 H 18 H R q > | 6,000 | 109.7 | 138 20 4y oA = A
253 12 H 18 H 7 av 45 v A | 6,000 | 109.7 138 31 7 mooA B
254 12 A 21 H v — w7 | 8,060 | 107.6 | 138 12 4 U X R
FRk194E (24[m] - 2448)
2550 1 A 27 H a4 F v A | 6,000 | 109.7 138 24 i mooA EE
256| 2 A 14 H 7 a v 45 v A | 6,000 | 109.7 138 19 7 U L
257 2 A 19 A a4 F A | 6,000 | 109.7 138 122 5 fA] 24 43 B2 s
258! 3 H 8 H Tav. 4T A 6,000 | 109.7 138 19 or UL < X €O &
259 3 A 17 H = — A2 kv | 6,000 |109.7 | 138 17 4y WA E A
260 3 A 23 H t = — % k v |6,000]109.7 | 138 18 oo UL = N A |
261 4 A 11 H ¥ — 7 = Ak | 6000 |109.7 | 138 49 W [ 35 4y B 2
262 5 A 21 H VFAAT A= 22T 4| 6,000 | 109.7 | 138 15 oo FULI N R |
263 5 A 24 H oNov kv | 6,000 | 109.7 | 138 28 4y IS A |
264 6 H 3 H YFAAT A=NAI AT, | 6,000 | 109.7 | 138 15 4y WA N
265 7 A 28 H N v kv | 6,000 | 109.7 | 138 97 W M 33 % Bz =
266 8 H 25 H o B o &2 | 6,000 | 109.7 | 138 20 4 oA MmN
267 9 H H o % v ¥ L x| 6,000 | 109.7 | 138 21 5y mooA ' n
268 9 H 2 H o oH v ¥ o x| 6,000 | 109.7 | 138 7 o oA E
269 9 A 14 H v % A 7 ¥ | 6,000 |109.7 | 138 14 53 mooA ' N
270 9 A 17 H v % A 7 v | 6,000 |109.7 | 138 36 4y oA E
271 9 A 19 H v v A 7 v |6,000|109.7 | 138 48 B [ 5 4 5 =
2721 9 A 26 H v % A 7 v | 6,000 |109.7 | 138 23 W mooA E S H
273 10 A 15 H = % F H v b~ | 8,060 |107.6 | 138 20 oo WA E A
274 12 H 3 H B — | 6,000 | 109.7 138 9 IF M 4 4y Pz i
275 12 H 7 H t = — A k¥ |6,000|109.7 | 138 92 B¢ M 6 4y % A
276 12 A 11 | YFAAT A=NAIAT4 | 6,000 | 109.7 | 138 90 HE [ 30 4y # R
277 12 A 15 H b = — A k¥ |6,000|109.7 | 138 22 4y mooAa =N
278 12 A 20 H X % F | 6,000 | 109.7 | 138 11 4y I < N € |
R 2047 (41[8]-41%8)

279 1 A 25 H Ny 7 7 v — | 6,000 | 109.7 | 138 16 W mooA B H
280 1 A 27 H 2% F | 6,000 | 109.7 | 138 22 45 mooA N
281 1 A 29 H Ny 7 o7 om — | 6,000 | 109.7 | 138 14 4y WmooA  E A
2821 1 A 31 H N % F | 6,000 | 109.7 | 138 11 4y G T I <




